
 

 
Product Information Packet 

35-1300GLD 
C FACE KIT

Copyright © All product information within this document is subject to ABB Motors and Mechanical Inc. copyright © protection, unless otherwise noted.



Page 2 of 3                                

                                                                  Product Information Packet: 35-1300GLD - C FACE KIT

Parts List

Part Number Description Quantity

35EP1300A35 PU ENDPLATE, MACH 1.000 EA

HW4500A01 1641B(ALEMITE)400 UNIV, GREASE FITT 1.000 EA

RB4000A06 BRG RET., TAPPED, 205 BRG, FOR FIELD CON 1.000 EA

51XN1032A20 10-32 X 1 1/4 HX WS SL SR 2.000 EA

HA3100A15 THRUBOLT 10-32 X 8.375 4.000 EA

HA3100A18 THRUBOLT 10-32 X 9.250 4.000 EA

HA3100A24 THRUBOLT 10-32 X 10.625 4.000 EA

HA3100A47 THRUBOLT 10-32 X 7.625 4.000 EA

MG1000Y03 MUNSELL 2.53Y 6.70/ 4.60, GLOSS 20, 0.017 GA

LB1425A02 LABEL THERMAL 3X1 ON PERFORATED ROLL 1.000 EA

PK1140 9 X 1 3/4 X 9  FOL  SERVICE DEPT BOX 1.000 EA

MN416A01 TAG-INSTAL-MAINT no wire (2100/bx) 4/22 1.000 EA



Page 3 of 3                                

                                                                  Product Information Packet: 35-1300GLD - C FACE KIT

No performance data has been
assigned to this product.


